(2x = 3)(x+ B) = 2x? + 2Bx - 3x — 3B
=2-x+A

9B-3=-1,B=1

—3B=A,A=-3

W A+B=(-3)+1=-2




2. 206> 422x+ A = (4x+ B)(Cx+3) € wl, ABC o] Fto g gure
g 1=2H?

@ 40 @60 ® 70 @ 90 ® 100

~&B ~

(4x + B)(Cx + 3) = 4Cx* + (12 + BC)x + 3B
4C =20, .C=5

124+BC =22, ~B=2

A=3B, .A=6

. ABC = 60




3.

3x2 +7x—6 = (x+ 3)(3x +|

) oA |

3x24+7x-6=(x+3)(3x-2)
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@ 0 o AlF2 0ol
®a<0¥d, /(-a)?=-ao°lth
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4q2
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(—=5a)? = —ba
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T 1 64 8
@ \/5252 @ - 121 11
@ V(04) =3 @«/0.0 — 0.0001
® V49 = -7

v0.01 =0.1




7. (x-4)(x-2)(x+1)(x+3)-25=Ax*+ B3 +Cx* + Dx+ EY
™, A+ B+ C+ D+ E°| gh& F5tH?

®-2 @-1 ©o0 @ 1 ® 2

B ~
(x=4)(x=2)(x+1)(x+3)-25
={(x-)(x+3)HHE-2)(x+1)} - 25

=(x*-x-12)(x*-x-2)-25

x?—x =12 x|¥sto] AElotH (1-12)(1—-2)—-25 = 1> - 14r-1
¥ —x=tE NYHH x* = 2x3 + ¥ - 14x2 + 14x -1 = x* -
2x% - 13x2 + 14x - 1
G2t A+ B+C+D+E=1-2-13+14-1=-1°|th




D)(x + 2)(x + 4)(x 4 7) o] AARA oA 2 o] A4} A9
?

=
o 1

@ -2 @ 8 @ 14 ® 28

@—19
~&B

x=D(x+2)(x+4)(x+7)

={(x-1)(x+DH(x+2)(x+4))

= (x% + 6x—T7)(x% + 6x + 8)

x? 0] Y@= F2 8x2 4 36x% — 7x% = 37x% 0|t} wEbA] &2 9
A= 370]4L, A2 -56°] HE =R x? o] A49 Ao
g2 37-56 = —19°]ct.




9. (x=2)(x-D(x+1)(x+2)°A »* o] AFE T3}t

(x=2)(x=1)(x+1)(x+2)
={(x-1)(x+DH(x-2)(x+2)}
=(x2-1)(x2-4) =x*-5x2 +4
webA] 2 o] A% o,




10. 4x? — 24xy + 36y% — 16 = F LApA o] HFoz
A2}A o] 9F-& ~totof et

[> HEFD 4x-12y

(FA4]) =4(a2 —6xy+9y)—16
=4(x-3y)°>-16
= (2x—6y+4) (2x—6y—4)

(2x—6y+4)+ (2x—6y—4) = 4x— 12y




11 3 =2y + )2 - b2 A5 Eafstelet.

ro
&
Mo

Ch
H -

>
> HED (x—y+b)(x—y-b)

B

x2 = 2xy +y? - b?

= (x* - 2xy +y*) - b?
= (x-y)?-0b°
=(x-y+b)(x-y-b)




12.

4y -9 BT A 5o
e ool

> E

I> b=,

(FA) =2 +4xy+ 4% -9

=(x+2y)°-9
=(x+2y+3)(x+2y-3)

(29 +3)+ (x+2y-3) =2x+ 4y




13. a-b=2A ", a2 - 2ab + b2 + 4a — 4b 2] F-& F5toiet,
B

>
> =g 12

B

a2 —2ab+ b2 +4a—4b = (a—b)’ +4(a-b)
=224+4x%x2
=448
=12




14. a=2V2-4,b =3+ V2 W,4® - dab + 4p> 9] k& 5ot

> E.

> HeH 100

B

a® — 4ab + 4b* = (a — 2b)?
={2v2-4-23+ x/i)}2
=(2V2-4-6-2v2)2
= (-10)2 = 100




15. a+b =501, ax+ bx —2ay - 2by = 20 & W, x> — 4xy + 4y? 9]
= otei et

> E.

> Hehl 16

~&B ~

ax + bx — 2ay — 2by = x(a+b) — 2y(a+ b)
=(a+b)(x—2y) =20

5% (x=2y) =20, x—2y=14

X —dxy+4y? = (x-2y)2=42=16




16. f(x) = V{+2—Vx+1%iﬂuﬂ0H41D+f@)+~~tﬂ9%+f00®

lo
=
flo
-
QL
r

R

® -1 @ VII-1 G)viz-1
@ V102- V101  ® V102

f0)=vV2-Vi=-1+ 2
fQ)=V3-V2=-v2+ V3
f(2)= Vi-V3=-V3+ Vi--.
£(99) = V101 - V100 = - V100 + V101
£(100) = V102 - V101 = - V101 + V102
2 f0) + f(1) + f£(2) + -+ + f(99) + £(100)

= -1+ V2-V2+ V3+-V3+ Vd+--- - V100 + V101 -
V101 + V102

= -1+ (V2- V2)+ (V38— V3) + (V4+---— ¥100) + (V101 -
V101) + V102

—1+ (0) + (0) + (0) + V102

-1+ V102




a=-V3, b= V22, +a+b’+b ] FE Ttz
=

| 2
> HE: —4vV3+32

a®+a+b*+b=(-V3)>+ (= V3)+ (V2)* +(V2) = -3V3 -
VB+2V2+ V2=-4V3+3V2




A= a, b o Hete] kS a %k b=ab-a—-b-3°]2t & o,
3v5

V5% 2 o gren
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19.

e AFLEE ol

gotol V55 9 e

Fo}?

0

1

2

1,41

1,41

1,42

1,42

1,42

1.43

1.45

1.45

1.45

1.46

1,46

1.48

1.48

1.49

1.49

1.49

1.50

1,51

1,52

1.52

1.52

1.53

1,53

5
2.0
2.1 11,44
2.2
2.3
2.4

1.54

1.55

1.55

1.55

1.56

1.56

® 5.93 @ 7.56

® 7.50

@7.40

® 6.19

V55 = V2.2%x 25 = 5v2.2 = 5 x 1.48 = 7.40




20. theol B ABLEY ARoltt, o] EE o

o
o
2
|

o] Z& ot (B, A YA A7 -3tnt)

5 0 1 2
1 1.000 1.005 1.010
2 1.414 1.418 1.421
3 1,732 1.735 1,738
4 2 2.002 2.005
5 2.236 2.238 2.241

> =

> ®ehl 0.0472

1 2 V6 2 2236

O

)
=0.4472 - 0.4 = 0.0472




21. oheo B AF

2 V3

o 3k FohH?

T 0 1 2

1 1,000 1,005 1,010

2 1.414 1.418 1.421

3 1,732 1,735 1,738

4 2 2.002 | 2,005

o 2.236 2.238 2.241

6 2.449 2.452 2.454

7 2.646 2.648 2,650

8 2,828 | 2,830 | 2,832
@® 1.414 @ -1.732 ® 1.732
@—2.449 ® 2.449

%_3_\/‘/;:_2_\}?:_\/6:_2449




